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Review:

An acute angle is _q.n anjlabaﬁqem OG 2 QQG

The function value of an angle is equal to the
cofunction value of the complement

2 5 of that angle.
@

1 sin45° = /JE_ Sec 60° = ;
45’ cos 30° = J:Sé csc45° = @

(. tan45° = ) cot 30° = @

60°
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5.2 #247The éﬁéprot!lje‘%;

tan78.2° =2 tan17.6° = =
x x+10

. [ p—

Xan782° =h g hstitution yields:
- " h
T tan782° tanl17.6° =

tan7g.2° + 10

When confronted by an equation involving fractions, it is m‘a -
-
of the fractions by multiplying both sides by the least com iRa ‘tax\ ,

<
| >~

h h X
.t 0 — .
(e + 10) 1760 = — — (m et 10) 0 I
tan78.2° 2 - 1
Distribution yields: A2 7% 10 tan 17.6° = h %an x
tan 78.2° H’
When more than one instance of your To get h by itself, factor and then divide. gm
variable appears, try to get all instances tan 17.6° O |
of the variable on one side and 10tan17.6° = h (1 - W) % ?0 - L\
everything else on the other side ) ) an '.———_F;- i
htan 17.6° = 10 tan 17.6° ~ 3.4 miles O e N
10tan17. 6 =h- i tan17.6° O + 33
tan78.2 2 1~ @n78.2° % q |
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Reciprocal Identities

1 . 1 1
csCx = — , SlInx= — , secx = — ,C0Sx = ,cotx = , tanx =
sinx CsCXx CosXx secx tanx cotx

Cofunction Identities:

sin(90°— @) = cosf® , cos(90°—@) =sinb
tan(90° — 8) =cotd , cot(90°—0) =tané
csc(90° —0) =secd , sec(90°—0) = csch

Ratio Identities:

Lne:%sg- :Q&..M: off .tan®

SO @ WK ady 73y
(o :
bp)

tanQ) =g§§% ; ot e 500

Example Problem 51#98

Given that

sin8° = 0.1392 csc8° = 7.1853
cos 8° =~ 0.9903 sec8° = 1.0098
tan8° = 0.1405 cot8° = 7.1154

find the six function vales of 82°.

8°% 2" are Comp l'ments
Sing2 = cos g = 04105
ScB2°=scc §° - .00

tan®2° 0t §° = 2 \9T
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Write in terms of sin 40° and/or cos 40°.

(
Slh%i6)
cot40° = COSTO° tan 50° = NS0 COS"'O

csc40° =

Slaon o550 (sin4 0’
o . o o _|
cos 50° = Sin 1.0 sec 50 —Cb—;s—oo S

How many different ways can you rewrite the expression using ratio,
reciprocal, and/or cofunction identities?

sin32° = cos (0°-22" )5 c0os5%
°s( >- ‘ I cs5c32°

5m 13°
CO* 13" o513 ‘t&‘ﬁ?

tan13° = CO'& -':f'?" =
- Cos3F3°
Sind3°




trig-2013-03-01-5p13cofunctionstrigfunctionsofanyangle.notebook March 01, 2013

5.3 Trigonometric Functions of Any Angle

An angle in standard position has its vertex at the origin and initial side on the
positive x-axis, and is measured counter-clockwise.

positive angle negative angle

The coordinate plane is divided into four quadrants.

a quadrantal angle.
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Two angles sharing a terminal side are called coterminal and differ by integer
multiples of 360e.
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Find two positive and two negative angles that are coterminal with 89e.

B +360 =
87-360"<

For an angle in standard position, the reference angle is the acute angle
between the terminal side of the angle and the X-axis.

reference +nma IQ
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Homework:

5.1 #83-97 odd
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